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1. Recursive Functions 


    � EMBED Equation.3  ���(15) = 2*� EMBED Equation.3  ���(12) – 4 =  2*18 – 4 = 32


    � EMBED Equation.3  ���(12) = 2*� EMBED Equation.3  ���(9) – 4  =  2 * 11 – 4 = 18


    � EMBED Equation.3  ���(9) = � EMBED Equation.3  ���(10) + � EMBED Equation.3  ���(7)  = 6 + 5 = 11


   � EMBED Equation.3  ���(10) = 2*� EMBED Equation.3  ���(7) – 4 =   2*5 – 4 = 6      


   � EMBED Equation.3  ���(7) =  � EMBED Equation.3  ���(3) – 1 =  6 – 1 = 5          


   � EMBED Equation.3  ���(3) = 3 + 3 = 6       Now substitute backwards.
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Recursive Functions   


� EMBED Equation.3  ���(15,12)  = � EMBED Equation.3  ���(11,13) + 4 = 8 + 4 = 12


� EMBED Equation.3  ���(11,13)  = � EMBED Equation.3  ���(12,9) + 4 = 4 + 4 = 8         


� EMBED Equation.3  ���(12,9)  = � EMBED Equation.3  ���(8,10) + 4 = 0 + 4 = 4


� EMBED Equation.3  ���(8,10) = � EMBED Equation.3  ���(11,7) + 2  = -2 + 2 = 0


� EMBED Equation.3  ���(11,7) = � EMBED Equation.3  ���(6,9) + 4 = -6 + 4 = -2


� EMBED Equation.3  ���(6,9) =  � EMBED Equation.3  ���(9,6) + 2 = -8 + 2 = -6


� EMBED Equation.3  ���(9,6) = � EMBED Equation.3  ���(12,3) + 2 = -10 + 2 = -8


� EMBED Equation.3  ���(12,3) =� EMBED Equation.3  ���(2,10)  + 4 = -14 + 4 = -10


� EMBED Equation.3  ���(2,10) = 3*2 −2*10 = 6 – 20 = -14   Now substitute backwards.
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 3.  Computer Number Systems      


      a.)  110010102 + 138 = 202  +11 = 213


      b.)  2578 + 2416 = 175 + 36 = 211


      c.)  B416 + 111102 = 180 + 30 = 210


      d.)  128 + 238 + 1010102 + 1716  = 128 + 19 + 42 + 23 = 212


         e.)  136 + 10011102 = 136 + 78 = 214 














4.   60568 or 6056





4.  Computer Number System


     210 * 4168 + A2316 – 101102 + 318 / 1012


	= 2 * 270 + 2595 – 22 + 25 / 5


	= 540 + 2595 – 22 + 5


	= 3118 = 60568








Assembly Language


This program determines if  (21, 20, 23) is a Pythagorean


triple.  It is not so a 0 is printed.
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